HER R

THR

H—RU> Y

E—5— 1\ —i (BH>F) AEOFH 2Rk
(9. L — WREE—————————— ERBAL A H X (BHNSARMES - BEK)
7 \ 777 10N PROEE————————— 30cm7ORTT7 Y
g\‘ % e EREL - BRH—————— AC100V 50,/60Hz
§§\i\\\\ N 7 ERHEEEN———————— 32,/35W @mm) 2222w
) . a A & M————————— (#F) 930,950 pm
= | RE=E - & g———————— (&) 43,/ 45my/ %
7 \‘ w A R———————— (#E) 197,/205m/%
%4{/ . EEI—K ( BAQAET S ———————— B360X8T295XEE490mm
fioU Y /Y = anEg—————————— 2. 5kg
S WY AR—DFH EA IS ————————— 125V 7A PSEZA& L#BFSH
ZHR J—FrOBE——————— YAEZIILT—FK (0. 756mm® (30#/0. 18mm) PSERAH)
oUyT I—RFDRES———————— AHENR2. Om
12 4R EBEHOESE——————— AV T UYFEEERE
/ﬁé\ Sl B BECa_< (136 250V 14)
E3 E “ =* ___%E'j)wl:l—x\\ 250\/ 2 5A
BIRDAAMvF (BIZX0H) BEXMvF (BIE0H) A= ﬂﬁ' __________ O— 41— (58 - h . 8 - )
= FAR—DEBERE——————— ToRAKTERA < — GEf: - ) - IRFRIERE)
(RJELE! EEY R — ——————— FRIL—S3vE—4R
O —EERY————————— TEE®E H:17EBEX1/vyF E:17EXT /YT
336 2. E*E_U ﬁﬁﬁ _________ 7 OE
: . R —————————— TU—%y o
& B E—————————— KR 5 10EX3/vF A : OF
T & | EEfE T E————————— i§4 20 X872 35Xx%F&368mm
. & Bt EESE  HE——————— 3. 5kg 0. 036m (1. 3F)
| 4 14 BAEERasE——————— tERESLETF—THY AR
] MERESE———————— 28 1@aYa ) VIR
BHEE  ARY3F MmN Bt L OB E ARG — ——— 84
FTEHHOME b
B OB & M =1 B OB & M =1 T 7 S — 1 12 BRI E —— — — — —— 1
PR AS THFIR Hi—F # 1 0 8 KR QIQME __________ 1 13%55#}%/5\? _______ 1
A—Ryos PP P ABS 3HTA— Rf——————— 1 T4BARAAR Y —————— 3
E—Z—hN—= PP (V=0) 72097 PC Y2 i G — 1 15 B — —— —— ———— 1
AT — ABSHUYH—tFy ) | BA—FiEHFY PP BAEYF———————— 1 1690 7 4 L s ————— 1/2
ryIE—R ABS ABEUER ABS 6.5 — Rigft+w p————1
AL RAN= PP BRIZV - a—F  BEKJEEE=L ] ARGBARES —————— 1
REOEH ABS BA<T—DEH ABS 8.7 — MiRG RS ————— 1
B0t DFH PP BlZ0% RYUFIR (F480Y)| IPRAMER—————— 1
10 ERCERREE —————1
TTAREREE /Ny b—RH———1
RBEE) YA JIEIZEDCREMOME
oW A # =1 B OW 4 # =1
EEFE BUR—IL T (L L RUEBEEZIL
TREM ToR—IL - K TREM PS
£ PE TRIRER /Xy b PE T
M ABBIESERT (Sv—7) MENATT, 201 SEFBRAMMAMLTEE FW—30 |
X ABE [ERohstE SRS H & T T,
o ﬁ%ﬁ'ﬁﬁﬁ%&?‘%ﬁé’é{ %gﬁéﬂﬁt%ﬁ%fb;;iéﬁw WEERE T BEDTIEB Y A = = |fFAH
X G )] =7 EI a. CE O)m\i B E =3 (=S =) a @D —
X AHBERBOATERCETTH & hbYET, Hi= == 250184 48108




